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2. BRN#EWEH, AB=a, BC =b,CD =c, DA=d,%@m#EE A\,2s=a+b+c+d, FHN:

(a) 2A = (ad + bc) sin A

(b) a*+d* —v* — ¢ = 2(ad + be) cos A

(€) &A=/(s—a)(s—b)(s—c)(s —d)

3. &Il <a,>F, 20,41 =ap2+ ap,n=0

1,2,

)y

5 ,‘;El\’_c]? Qo 7& 1o ;E_NEJ)E]

f(2) = aeCy(1 — )" + a;CPa(1 — 2)" ' + apCha*(1 — )" 2 + -+ - + a,Cla"

& 1 B—R K

4. F—Ew@mi A— BCD, M, N % AB, AC r#—2RA#% % AB = 3AM, AC = 3AN, #

Ew@BRAE 18v2, 8l MN st 0D /i E4Hg ) 38 B T7

(

Fy:ax+biy+cz=dy
5. Wy A2 < Es @ asx + boy + coz = ds

E3 . a3x+b3y+63z = dg

\

a; dy ¢ a; by dy
Ay: a d2 Co 7Az: as bg dg

as ds c3 as bz ds

Y
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(a) HABATIBHY BITE A £ 0 8, FRAAE—F

(b) #A=0REA, =081 A, =0, A, =0 —RH5?
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6.

10.

ATREA G BB L, SR LD ERARE, SooF—i
B L
AR B g B AR R Y £ RS (BEEAR), KK
(a) H—rie A, H W fs A Bk AfT? C D

(b) Fouk e A B, Rig{Esk Lok BB F A KAE?

LAZF @ LA —2 P, HRERE 000 %, AH (V3 + Dy = (V3 — 1)x #éist, Big%#4 P

BH y = ma BEA, Bl m AT

. EEEFERA S0 E, R=M7 %3 AB + BC + CD 8 RI& D

(B —48 3 9, =48 6 9, =4 10 %)

4a 4b c 7

. Foa,bc BETH, EY + + =y

b+c c+a a+b— 2

FRXT a2+ 4oy +8y2 —4 =0 B (h, k) & T L& 85, Bl h2 + k2 695 MEEAAT?



